09010 UNIFLOW POWDER MEASURE

Nelie Sl B S I S S -
©
=

(=)

10
11
12
13

Ry
<

3
<

Part #

09025
09026
09012
09027
09005
09006
09008
09009
09013
09014
09019
09022
09023
09028
09020
87505
09260
09004
09011

<« Not shown

Description

Main Body Casting

Powder Hopper

Powder Hopper Cap

Handle Assembly

Measuring Cylinder, Large
Measuring Cylinder, Small
Measuring Screw, Small
Measuring Screw. Crowned
Measuring Cylinder Bushing
Measuring Screw Lock Ring
Binder Head Screw. 10/32 x 1/4
Drop Tube, Large

Drop Tube, Small

Drop Tube, 17 Caliber

Stand Plate

Hex Lock Nut, 7/8-14

Bow Washer

Measuring Cylinder Assy., Small
Measuring Cylinder Assy., Crowned

09032 DU-O MEASURE

V¥ No longer Available.

RELOADING SCALES

A EERRERERERERRRRRERERR I
R

Part #

09076
09078
09079
09080
09082
09081
09083
09084
09085

Description
Drop Tube. Large
Drop Tube. Small

Hex Lock Nut, 7/8-14
Main Body Casting
Measuring Cylinder
Powder Hopper Cover
Measuring Device Frame
Measuring Device Dial

NOTE: This product has
been discontinued and the
replacement parts are no
longer available . Call or
write RCBS Customer

Service for information.

Measuring Device Shaft
Measuring Device Large Pis
Measuring Device Spring
Measuring Device Ball
Measuring Device Dial Scre
Thumbscrew

Handle Assembly

Powder Hopper Assembly
Handle Screws (2)
Mounting Plate

Description

Scale Pan. 304

Scale Pan. 502, 505, 510, 1010

Support, 502, 505. 510, 1010
Leveling Foot. 502. 505, 510
Leveling Foot. 1010

End Loop. 502. 505, 510. 1010
Micromtr. Poise Lock. Screw, 510, 1010

Attachment Weight. 1010
Scale Cover, 10-10

09094 POWDER TRICKLER

Key

B O S

Part #
09095
09096
09097
09098

Description
Main Casting
Cross Tube
Knob

Sleeve

86040 LITTLE DANDY

Key
1

NN N e W

Part #
86041

86042
86043
86044
87505
09022
09023

Description

Pistol Powder @) 1
Measure Body S
Rotor Guide Screw —
Powder Hopper

Hopper Cap

Hex Lock Nut 7/8-
Drop Tube. Large
Drop Tube. Small

®_

IMPORTANT

Mechanical Scales:
Thereplacement parts listed are avail-
able from RCBS. Other replacement
parts that do not affect the actual
weighing capability of the scale are
alsoavailable. Check with RCBS Cus-
tomer Service for availability. If the
scale hasabroken beam. fails to “zero”,
fails to weigh accurately or fails to
repeat, the entire scale must be re-
turned to Ohaus Product Service
Dept. for repair or replacement. DO
NOT return the scale to RCBS. Call
RCBS Customer Service for a Re-
turn Authorization number and ship-
ping instructions.




